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������ 2. (6 �����) ����	 M � 

��	�	 �	 ��
���	�	 �B, 	 ����	 C � ���
���	 �	 AB �  
MC ≠ . � ���	�	 ����
	����	 ����
�� �
	�	�	 AB 
	 ��
�
���� 
	������
�����

�
��������� �CK (��=CK) � BCL (BL=CL), �	���	 �� K, C, L � M ���	� �	 ���	
��
����
�. �	 
� ���	��, �� ��� ABKL   ���   LBKA ⊥ . 

������ 3. ( 7 �����) �	 
� �	��
� �	�-�	����� �
��
���� ��
�� n, �	 ����� 
� �
����	�
���� ��
�	 x1, x2,....xn, �	���	 �� x1

3+x2
3+.......+xn
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��������� 
 ������	 �	 
�
	�	�	 1 �
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	��, �
��
���� �	 
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	���� �	 �
��������
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� �	��
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��� �
	����, �������� �
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	����"���� �	
�BC, 
 �
����, �
��
���� �	 ���	 �� 
�
	���� �	 ABC � ���
	, �
��
���� �	 �
�����
��� 
�
	��.  

����� �� ���	
� 4.5 ����. 

ma
th-
bg
.co
m�	, ���� ��	�
	���	�
	

� x11. . �	�	 
�
 ���	���

��
���	�		 ��B, B, 	 ��
�� �
	�	�	�
	�	  AB A	 


(BL=CL), CL �	���	�	�
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